BAPUAHT 1.

Uoouy, = 180 B, Haiitu:
R1 =1 xOwm, ROGL[I., |06H1.,
R2 = 3 kOwm,
R3 = 4 kOm :Jlil U2I1 UI31 LIJ41 U51
R4 =2 KOM, 1, 12, 13, 14, 15.
R5 =2 xOwm.
BAPUAHT 2.
Uoomr, =40 B, Haittu:
R1=8 KOM, RO6HI., |06Hl-,
R2 =2 xOwm,
R3 = 4 xOM ILJ]JI U2I1 U|31 ?41 U51
R4 = 2KOM, 1, 12, 13, 14, 15.
R5 = 4 xOwm.
BAPUAHT 3. a1
= ———— 1 F———

Uo61u. =258, Haiitu:
R1 =200 Om, RO6HI. |06Hl R2 R3 R4

_ b * _O
R2 =100 OM’ Ul1 U21 U31 U41 U51 S |_| |_| |_
R3 =300 Om, b b la Lo |
R4 = 600 Ow, 1, 12, 13, 14, I5. —ﬁ—
R5 =500 Om.
BAPUAHT 4. a1
UoGm, = 120 B, Haiitu: [ 1
R1 =3 xOwm, R06HI., |06H1., R2
Eg f i ngy Ul1 U21 U31 U41 U51 :l—_o
R4 ; 3KOM’ 11, lo, 13, I4, Is. L R3 R4 RS a
R5 =2 xOwm.
BAPUAHT 5. R1

—
UO6HI.\:3O B, Haiitu: R2 R5
R1 =40 Owm, R06H1., |06I.I1., o | — — lo
R2 =20 OM’ U11 U21 U31 U41 U51 R3 R4
R3 =10 Owm,
R4 = 300w, 1, 12, 13, 1a, Is. —| l—' l—
R5 =50 Om
BAPUAHT 6. R2
L

Uoom. = 400 B, Haiiru: R1 R3 R4
R1 =800 Owm, Ro6ur., lo6m., o1 H — H—=>2°
R2=3 KOM, U11 U21 U31 U41 U51 R5
R3 =2 xOwm, —
R4 =2 KOM, |11 |21 |31 I4l |5'

R5 =4 xOm




BAPUAHT 7. " e
— —
Uoom,=9 MB, Haiiu: R3 RS
R1 i 3 Om, R06Lu., I06111., o—r—1__ F———1 1o
R2 =5 Owm, U1, Uy, Uz, Uy, Us, R4
R3=40m, Iy, 1o, 13, I, |
R4 =8 Owm, 15 125 13, 14, Is. —
R5=10mM
BAPUAHT &. R i =
o—
Uogm. = 20 B, Haiitu: R3 R5
R1 =1 xOm, Ro61u. I06111.
R2 = 6 kxOMm ’ ,
s U ,U ,U 1U 1U ]
R3 =2 xOm A
R4 = 3 kOwm, L2 1 T
R5 = 3 kOwm.
BAPUAHT 9. - - -
Uoom, = 110 B, Haiitu: R2 R
R1 =30 kOwm, Ro6ur., lo6m.,
R2 =70 kOm
b U ,U ,U ,U 1U 1
R3 =10 kOm Ill ﬁ ﬁ |4 °
R4 = 40 kOwm, bl 53 T T
R5 = 60 kOwm.
BAPHAHT 10. o o = —o
L 1 1
U, = 125 B, Haitr: R2 =
R1 =4 xOm, Ro6m., |06H1.,
R2 =1 kOm
b U ,U ,U ,U 1U ]
R3 =2 xOm |a ﬁ f|4 i
R4:3KOM, 1y 125 13, 14, 15.
R5 =500 Om.
BAPHAHT 11. R3 Ra
Uoom. = 1B, Haiitu: R1 R2 B - ~ o
R1=2Owm, Ro6ur., o6, o n =
R2=150wm
: , Uy, Uy, Uz, Uy, Us,
RB:BOM, Ill 2| |3 |4 °
R4:30M, 1y 12, 13, 14, 15.
R5=2Om
BAPUAHT 12.
R2 R3
Uobm, = 2.2 B, Haiiu: R1 B 1 -
R1 = 20 Om, Ro6ur., lo6m., O—|:|—‘ R4 R5
R2 =40 OM’ U11 U21 U31 U41 U51 _| |_
R3=200m, I1, 1, 1, la, |
R4 =30 Owm, L2 T T

R5=10 Om




BAPUAHT 13.

R1 R2 R3
Uoom, = 170 B, Haiitu: — '_‘
R1 =10 xOwm, Ro6mr, lo6 — {RS
R2 = 20 kOm oy — —
> Ul! U21 U31 U4! U5’
R3 =30 xOm, o lae L |
R4 = 40 kOwm, L2 s
R5 = 10 kOwm.
BAPUAHT 14.
R1 R2 R3
Uoom, = 79 B, Haiitu: B a
R1 =100 Om, Ro6mr., lo6um. R4 - RO
R2 =200 Owm, Uy, Uy, Us, Uy, Us,
R3 =300 Ow, b e
R4 = 100 Ow, L2 s
R5 =100 Om.
BAPUAHT 15.
Uo6m, =150 B, Haiitu:
S% = % KgM, Ro6111., |06H1.,
=2 kOMm
s U ,U ,U 1U 1U 1
R3 =3 kOm, Ill 2| |3 |4 °
R4 = 6 xOwm, L2 18 M s
R5 =1 xOm
BAPUAHT 16.
Uo6m.‘:48 MB, HaiiTu:
R = 20 O, og. oo,
= M
9 U ,U ,U ,U 1U ]
R3 =30 Owm, b e
R4:4OOM, 1y 125, 135 14, 15.
R5 =20 Om
BAPUAHT 17.
Uogmy, =240 B, Haiitu:
S% = gOKOCI\;, Ro6m., lo6m,
= 80 kOm
b U ,U ,U ,U 1U ]
RB:ZOKOM, |1| 2| |3 |4 °
R4 = 20 kOwm, L2 s
R5 =10 kOm
BAPUAHT 18.
Uogm, =12 B, Haiitu:
S% = :1)) 8M, R06111., '06111-,
=30m
) Us, Uy, Uz, Uy, Us,
R3=10wm,
R4 =12 O, ol b Lay s

R5 =4 Om




BAPUAHT 19.

R2 R3

Uo6m.\:36 B, HaiiTu: R1 — l_ RS
= Room. logur. w

=4 xOm

b U y U y U ] U ] U ]
R3:2KOM, |1| 2| |3 |4 °
R4= 6 KOM, 1, 12, 13, 14, 15.
R5 = 2 kxOMm
BAPUAHT 20.
Uogm =75 B jiri: = -
o6, , Haiitu: —] —

! R4 R5
Rl : 3 KOM, RO6H_I,, I06]_u., @] R3 |_| |_O
R2 =2 xOm, Uy, Up, Us, Uy, Us,
R3=5K0wm, Iy, 13, 1, lg, |
R4 = 3 xOwm, L2 1 T
R5 =2 kOm
BAPUAHT 21.

) R3
Uogm, = 90 MB, Haiitu: R1 R? ———1__
R1 f 2 Om, R06111., |06H1., o8 H R4 R5 }_O
R2=10m, Uy, Uy, Us, Uy, Us, — —
R3=20m, I1, 1, 1, la, |
R4:20M, 1, 12, 13, 14, 15.

R5 =4 Om
BAPUAHT 22. i
R1 R5
Uoom, = 500 B, Haiitu: o1__ R3 R4
R1 =5 kOm, I:"06111., |06H1-, 1
R2 =3 kOmMm
b U ) U y U ] U ] U ]
R3:2KOM, |1| 2| |3 |4 °
R4 = 1 kO, L2 s
R5 = 6 kOMm
BAPUAHT 23.

_ R1
UoGu, =24 B, Haiitu: R4 R5
R1 =10 Owm, Ro6111. |06H1.

R2 =30 OM’ U11 U21 U31 U41 U51 i = |_| l_o
R3 =10 Owm, e L] —

R4 =10 O, L2 s

R5 =30 Om

BAPUAHT 24.

_ R2 R3
UoGmr, = 155 B, Haiitu: R1 — 1
R1 =10 xOwm, Ro6ur., lobur o

_ .’ N - °
R2 =30 KOM’ Ul, UZ, U31 U41 U51 = =
R3 =40 xOm, I o s Lo | i
R4 = 20 kOw, L2 s

R5 =10 kOm




BAPUAHT 25.

R2 R3

UoGm, = 16 MB, Haiiru: R
R1=50wM, Ro6m., lo6mr., RS
R2 =5 Ow,
R3 =3 0m, :J1,| U2|, UIS, LIJ4, -
R4 =4 Owm, L7213 T T
R5 = 4 Owm.
BAPUAHT 26.
R1
Uogmy, = 160 B, Haiitu: RS
R1 = 600 Ow, Room., lob., D—‘ R2 R3 Re [
R2 = 200 O — '
: Uy, Uy, Us, Uy, Us, T '
R3 = 400 Ow, N
R4 = 300 Ow, bz
R5 = 40 Om.
BAPUAHT 27.
_ R1 R2 R3
Uoom, = 30 B, Haiiru: — —1
! R5
R1="5kOm, Ro6ur., lo6m., —
R2 =1 xOm, |—|R4 7
_ U11 U21 U31 U41 U57
R3 =3 kOm, Lol Lo |
R4 =3 kOM, bz
R5 = 750 Om
BAPUAHT 28.
~ R1 R2 R3
Uogm, = 180 B, Haiiu: — —
R1 =1 kOm, Ro6ur., lo6m., O—F
R2 = 3 kO R4 R
R3 =2 kOm, |Ul’| Uzl’ UIS’ ?4’ > a —
R4 = 4 xOwm, L7213 T TS
R5 =2 xOwm.
BAPUAHT 29. R1 R2
-
U06H1.:120 B, Haiitu: R3 R4
R1 f 5 kOwm, Ro6m., lo6mr., o—] — ——"°
R2=1 KOM, Ul, U21 U31 U41 U51
R3=2 xOwm, Lo lae Lo | i
R4:4KOM, 1, 12, 13, 14, 15. 4:7
R5 =3 kOm
BAPUAHT 30. R Re
S B S
Uo61u.‘=24 B, Haiitu: R3
R1 = 300 Om, Ro6m., lo6m., O——f  }—— 9
R2 = 100 Om
) Uy, Uy, Ua, Us, U
R3 = 300 O, b T B i ] ©
R4 = 200 OM, |11 |21 |31 I4l |5' _| l_

R5 =200 Om




BAPUAHT 31.

R1
—
Uo6m. =8 B, Haiiru: o s
E% = ?8 8M, Ro6m., lo6mr., o—t+] - | o
= M,
R3 =20 Owm, Uy, Uz, Us, Uy, Us, R4 RS
R4 =40 Om, 1, 12, 13, 14, Is. | L il
R5 =20 Om
BAPUAHT 32.
R1 R2 R3
Uo6my, = 48 B, Haiitu: — — —] -
R1 =500 Owm, Ro6ur., lobu., R4
R2 =15 kOw, Us Us U Us. U [ ——o0
R3 =1 xOm 1, Y2, U3, Y4, U5,
’ 1, I, I3, 1, | R5
R4 =2 xOwm, 1y 12y 13, 14, Is.
R5 =300 Om. —] —
BAPUAHT 33. N
U06Ul-: 158 Haiitu: — b
R1=6 KOM, R06HI |06H1 R2 R3 R4
ne g Uy, Uy, Us, Uy, U o — — o
= 1 23 3 4y 5
R3 =3 kOwm, e -
R4 =2 xOwm, 11 12, 13, 14, 1s.
R5 = 3 xOm. —] —
BAPUAHT 34. R2 R3
R1 — RS
Yobm, =120 B, Haiitu: o] o
E% : :]3- KgM’ R06H1'9 I06H1-:
=3 kOm
; Uy, Uy, Us, Uy, Us,
R3 =4 xOwm, Ill 2| I3 I4 5
R4 =3 KOM, 1, 12, 13, 14, 15.

R5 =0,9 kOm




